Date	10/26/23		Page 1 of 27	
Solicitatio	n Number	6817 OF		
Opening D	ate and Time	11/08/23	2:00 pm	
Buyer		SENSIBAU	IGH, BRENDA	

DESTINATION OF GOODS
MULTIPLE DELIVERY LOCATIONS
PLEASE REFER TO DOCUMENTATION
FOR DELIVERY ADDRESSES.

Per Nebraska's Transparency in Government Procurement Act, DAS is required to collect statistical information regarding the number of contracts awarded to Nebraska contractors. This information is for statistical purposes only and will not be considered for contract award purposes.

NEBRASKA CONTRACTOR AFFIDAVIT: Bidder hereby attests that bidder is a Nebraska Contractor. "Nebraska Contractor" shall mean any bidder who has maintained a bona fide place of business and at least one employee within this state for at least the six (6) months immediately preceding the posting date of this ITB.

____ I hereby certify that I am a Resident disabled veteran or business located in a designated enterprise zone in accordance with Neb. Rev. Stat. §73-107 and wish to have preference, if applicable, considered in the award of this contract.

Contract to supply and deliver Perforated Square Steel Tube to the State of Nebraska as per the attached specifications for a One (1) year period from date of award. The contract may be renewed for Four (4) additional One (1) year periods when mutually agreeable to the vendor and the State of Nebraska.

(BT 08/23/23)

	TANDAM PARAMETERS OF THE PARAM	INVITATION		4.44	No. a
Line 1	Description DIST 1	Quantity 1,275.0000	Unit of Measure EA	Unit Price	Extended Price \$ 16,447.50
2	12 GA SQ ANCH 2-1/4" OD X 36" MAKE/MODEL 22F(2A03PG DIST 1 12 GA SQ SLEEVE 2-1/2" X 18" MAKE/MODEL 24F(2APG)	75.0000	EA I	* 7.85	588.75

BIDDER MUST COMPLETE THE FOLLOWING

DISCOUNT PAYMENT TERMS: _ _ % _ 30 _ DAYS

By signing this Invitation to Bid form, the bidder guarantees compliance with the provisions stated in this Invitation to Bid, agrees to the terms and conditions unless otherwise agreed to and certifies that bidder maintains a drug free work place environment. Vendor will furnish the items requested within _______ days after receipt of order. Failure to enter Delivery Date may cause quotation to be REJECTED.

Sign

Here (Authorized Signature Mandatory – Form must be signed manually in ink or by DocuSign)

Enter Contact Information Below

VENDOR#

VENDOR: Address: J = A TRAFFIC PRODUCTS

605 W. 40 HWY PMB 1

BLUE Springs, Mo 64014

Telephone 816-392-6725
Email Mindhame jafps. Com

Date	10/26/23		Page 2 of 27
Solicitation	Number	6817 OF	
Opening Da	ate and Time	11/08/23	2:00 pm
Buyer		SENSIBAU	GH, BRENDA

	" "在1971年,在1986年,1987年,1987年,1987年	INVITATION	Nach Trail of		
Line	Description	Quantity	Unit of Measure	Unit Price	Extended Price
3	DIST 1 12 GA SQ POST 1-3/4" OD X 24' MAKE/MODEL <u>16F12-24- f</u> 6-	160.0000	EA	\$ 68.10	* 10,89b.00
4	DIST 1 12 GA SQ POST 2" OD X24' MAKE/MODEL 20F12-24-PL-	125.0000	EA	\$ _{78.50}	* 9,812.5°
5	DIST 1 12 GA SQ POST 2" OD X 10' MAKE/MODEL	770.0000	EA	*33.90	\$ 26,103.00
6	DIST 1 12 GA SQ POST 2" OD X 12' MAKE/MODEL 20 F (2 P (2	785.0000	EA	\$ 40.60	^{\$} 31,871.0°
7	DIST 1 12 GA SQ OMNI ANCH 2-1/4"OD X 3' MAKE/MODEL	1,250.0000	EA	\$ 3(.20	\$ 39,000.00
8	DIST 1 12 GA SQ OMNI SLEEVE 2-1/2" OD X 18" MAKE/MODEL 24 F(26DA P4	220.0000	EA	*27.20	\$ 5,984.00
9	DIST 1 10 GA SQ POST 2-3/16" OD X 5' MAKE/MODEL 24 H12 POSPG	25.0000	EA	* 30.60	\$ 765.00
10	DIST 1 10 GA SQ POST 2-1/2" OD X 24' MAKE/MODEL 24H12-24- PG	115.0000	EA	+ <u>146.20</u>	7 16,813,00
11	DIST 1 7 GA HD ANCH 2-1/2"X36" MAKE/MODEL + DA 200 - 36- 6	180.0000	EA	[‡] 36.73	\$ 6,611.40
12	DIST 1 7 GA HD WINGED ANCH 3"X36" MAKE/MODEL TWA 256 - 36 - G	65.0000	EA	\$ 73.76	\$ 4,794.40
13	DIST 1 7 GA HD PERM ANCH 3"X36"	100.0000	EA	† 43.79	\$\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\

Date	10/26/23		Page 3 of 27
Solicitation	Number	6817 OF	
Opening Dat	te and Time	11/08/23	2:00 pm
Buyer		SENSIBAU	GH, BRENDA

	The Marie State of the Control of the	INVITATION	SANGAPU.		(Say 30 485)
Line	Description MAKE/MODEL HDA250 -36-6	Quantity	Unit of Measure	Unit Price	Extended Price
14	DIST 1 7 GA UNIBASE ANCH 3"X48" MAKE/MODEL SB - CTA 48-G	25.0000	EA	\$ 27.13	\$ z,178.75
15	DIST 1 7 GA UNI-BASE WINGED ANCH 3" X 48"	25.0000	EA	\$ 120.90	\$ 3,022.50
16	MAKE/MODEL SB8 - CTW A48-6 DIST 1 TOP REDI TORQUE RECEIVER 2-1/2" MAKE/MODEL 588C - 256A-6	50.0000	EA	\$ 55.51	\$ 2,775.50
17	DIST 1 REDI TORQUE HARDWARE KIT MAKE/MODEL RTSB-MPHOW	60.0000	EA	\$ 20.18	\$ 1,210.80
18	DIST 1 ANCH FLANGE BOLT 3/8"X3-1/2" MAKE/MODEL 68F5B38-35-2	225.0000	EA	\$ 1.13	\$ 254.75
19	DIST 1 SMALL CORNER BOLT W/NUT MAKE/MODEL < 3516-5-2	25.0000	вх	\$ 62.60	\$1,550.00
20	DIST 1 MED CORNER BOLT W/NUT MAKE/MODEL CBS16-M-2	18.0000	вх	\$ 59.00	\$ 1,062.00
21	DIST 1 SIGN BRACKET 12' MAKE/MODEL	115.0000	EA	\$56.00	\$ 6,440.00
22	DIST 1 2" POST HARDWARE (CLAMPS FOR BRACING)	25.0000	вх	\$ 20,00	₹ <u>2,000.00</u>
23	MAKE/MODEL SBICS 2005 B DIST 1 2-1/2" POST HARDWARE (CLAMPS FOR BRACING)	25.0000	вх	\$ 85,00	* 2,125. ∞ 13530 NE999003R43530 NE999003 20210114

Date	10/26/23		Page 4 of 27
Solicitation	Number	6817 OF	
Opening Da	e and Time	11/08/23	2:00 pm
Buyer		SENSIBAU	IGH, BRENDA

DESTINATION OF GOODS MULTIPLE DELIVERY LOCATIONS PLEASE REFER TO DOCUMENTATION

R43530 NE999003R43530[NE999003 20210114

FOR DELIVERY ADDRESSES.

	INVITATION						
Line	Description MAKE/MODEL SBPC \$250 5 Q	Quantity	Unit of Measure	Unit Price	Extended Price		
24	DIST 1 2" POST HARDWARE (CLAMPS FOR EXTRUDED PANEL) MAKE/MODEL EPPCS 2005Q	25.0000	вх	* 77.50	\$ 1,937.50		
25	DIST 1 2-1/2" POST HARDWARE (CLAMPS FOR EXTRUDED PANEL) MAKE/MODELEPPCS2505Q	30.0000	вх	₹79.∞	^{\$} 2,370.00		
26	DIST 1 3/8" DRIVE RIVET MAKE/MODEL DICAS 3878-06-W	55.0000	вх	± 68.00	\$ 3,740.00		
27	DIST 1 2" DRIVE CAP W/SHANK 1-1/8"X6" MAKE/MODEL DC 200225 CR	25.0000	ST	\$ 263.87	\$ 6,596.75		
28	DIST 1 2-1/4" DRIVECAP W/SHANK 1-1/8" 1-1/8" X 6" MAKE/MODEL DCZ25 250 LR	25.0000	ST	* 279.35	\$ 6,983.75		
29	DIST 1 3"DRIVECAP W/SHANK 1-1/8 'X 6" MAKE/MODEL DC 250 300 C/2	25,0000	ST	₹ 282.14	7,053.50		
30	DIST 1 BARRICADE SUPPORT W/DETACHABLE BRACKETS MAKE/MODEL TBB3A - 2	25.0000	ST	\$ 51.82	\$ 1,295.50		
31	MAKE/MODEL TIDDIN 2 DIST 1 14 GA SQ POST 2" OD X 8' MAKE/MODEL ZODIZPOS-PG	350.0000	EA	\$ 22.95	\$ 8,032.50		
32	DIST 1 14 GA SQ POST 2" OD X 10' MAKE/MODEL 70D12P10P6	350.0000	EA	* 28.75	\$ 10,062.50		
33	DIST 1 14 GA SQ POST 2" OD X 12' MAKE/MODEL 20D(2)/6-	350,0000	EA	* 34.45	\$\frac{12,057.50}{12,057.50}\$		

Date	10/26/23		Page 5 of 27
Solicitation	n Number	6817 OF	
Opening D	ate and Time	11/08/23	2:00 pm
Buyer		SENSIBAU	GH, BRENDA

DESTINATION OF GOODS
MULTIPLE DELIVERY LOCATIONS
PLEASE REFER TO DOCUMENTATION
FOR DELIVERY ADDRESSES.

R43530 NE999003R43530[NE999003 20210114

	The Late with the first the second	INVITATION			STATISTICS.
		0	Unit of	Unit Dries	Extended Price
Line	Description	Quantity	Measure	Unit Price	1
34	DIST 2 12 GA SQ ANCH 2-1/4" OD X 36" MAKE/MODEL ZZF1240396	25.0000	EA	\$ 12.90	322.50
35	DIST 2 12 GA SQ SLEEVE 2-1/2" X 18" MAKE/MODEL 24FILA PG	25.0000	EA	7.85	196.25
36	DIST 2 12 GA SQ POST 1-3/4" OD X 24' MAKE/MODEL 16F12-24 - P(-	100.0000	EA	\$ 68.10	\$ 6,810.00
37	DIST 2 12 GA SQ POST 2" OD X 24' MAKE/MODEL 20F12- 24-P6	35.0000	EA	78.50	\$ 2,747.50
38	DIST 2 12 GA SQ POST 2"OD X 10' MAKE/MODEL ZOTIZPIOPL	550.0000	EA	33.90	* 18,645,00
39	DIST 2	260.0000	EA	\$ 40.60	\$ 10,55b.00
40	MAKE/MODEL 20 F 12 P12 PL DIST 2 12 GA SQ POSTS 2 OB A 12 P12 PL 20 F 12 P12 PL 20 F 12 P12 PL	600.0000	EA	\$ 31.20	\$ (8,720.00
41	OD x 3' MAKE/MODEL 22F/260A03PC DIST 2 12 GA SQ OMNISLEEVE 2-1/2"X18"	75.0000	EA	\$ 27.20	\$ 2,040.00
42	MAKE/MODEL 295/20DAPL DIST 2 10 GA SQ POST 2-3/16" OD X 5' MAKE/MODEL 21 4/2 POS-P6	25.0000	EA	36.60	\$ 765.00
43	DIST 2 10 GA SQU POST 2-1/2"OD X 24' MAKE/MODEL 2+1/2-24-PF	25.0000	EA	\$ 146.20	\$ 3,655.00
44	DIST 2 7 GA HD ANCH 2-1/2"X36" MAKE/MODEL +DA 200-36-6	170.0000	EA	\$ 31.73	6,244.10

Date	10/26/23		Page 6 of 27
Solicitation	n Number	6817 OF	
Opening D	ate and Time	11/08/23	2:00 pm
Buyer		SENSIBAU	JGH, BRENDA

		INVITATION			
Line	Description	Quantity	Unit of Measure	Unit Price	Extended Price
45	DIST 2 7 GA HD WINGED ANCH 3"X36" MAKE/MODEL へいれてらっている。	25.0000	EA	\$ 73.76	\$ 1 8 Atri 00
46	DIST 2 7 GA HD PERM ANCH 3"X36" MAKE/MODEL 以のA 250-76-6	25.0000	EA	* 43.79	\$ (,694.75
47	DIST 2 7 GA UNIBASE ANCH 3"X48" MAKE/MODEL SBS-CTA48-6	25.0000	EA	\$ 87.13	* <u>2,178.25</u>
48	DIST 2 7 GA UNIBASE WINGED ANCH	25.0000	EA	\$ 120.90	\$ 3,622.50
49	MAKE/MODEL 588- CTWA 48-6 DIST 2 TOP REDI TORQUE RECEIVER 2-1/2"	25.0000	EA	\$ 55.51	\$ 1,387.75
50	DIST 2 REDI TORQUE HARDWARE KIT MAKE/MODEL RTS B - MPHOW	25.0000	EA	\$ 20.18	\$ 504.50
51	DIST 2 ANCH FLANGE BOLT 3/8"X3-1/2" MAKE/MODEL GOFS B 38-35-2	25.0000	ĒĀ	\$ 1.13	\$ 78.25
52	DIST 2 SMALL CORNER BOLT W/NUT	25.0000	вх	\$ 62.00	\$ 1,556.00
53	MAKE/MODEL CB\$16-3-2 DIST 2 MED CORNER BOLT W/NUT	25.0000	вх	\$ 59.00	\$ 1,475.00
54	MAKE/MODEL CBSIG-M-Z DIST 2 SIGN BRACKET 12' ASB2009-12 MAKE/MODEL ASB2009-12	25.0000	EA	\$ 56.00	\$ 1.400.00
55	MAKE/MODEL 45320071-12 DIST 2 2" POST HARDWARE	25.0000	вх	\$ 80.00	\$ 2,000. 50 43530 NE999003R43530[NE999003 20210114

Date	10/26/23	**	Page 7 of 27	
Solicitation	n Number	6817 OF		
Opening D	ate and Time	11/08/23	2:00 pm	
Buyer		SENSIBAU	IGH, BRENDA	

DESTINATION OF GOODS MULTIPLE DELIVERY LOCATIONS PLEASE REFER TO DOCUMENTATION

FOR DELIVERY ADDRESSES.

		INVITATION			
Line	Description (CLAMPS FOR BRACING)	Quantity	Unit of Measure	Unit Price	Extended Price
	MAKE/MODEL SBYC \$ 200 5 Q			₹ 85.00	2,125.00
56	DIST 2 2-1/2" POST HARDWARE (CLAMPS FOR BRACING) MAKE/MODEL うちゃこうこ	25.0000	вх		•
57	DIST 2 2" POST HARDWARE (CLAMPS FOR EXTRUDED PANEL) MAKE/MODEL と外による	25.0000	вх	* 77.50	\$ 1,937.50
58	DIST 2 2-1/2" POST HARDWARE (CLAMPS FOR EXTRUDED PANEL)	25.0000	вх	[‡] 79.60	\$ 1,975.00
59	MAKE/MODEL EPPCS 2505 & DIST 2 3/8" DRIVE RIVET MAKE/MODEL DIAS 3878-06-W	25.0000	вх	*68.00	\$ 1,700.00
60	DIST 2 2" DRIVECAP W/SHANK 1-1/8"X6" MAKE/MODEL DC 2002 \$5 LP	25.0000	ST	\$ 263.87	
61	DIST 2 2" DRIVECAP W/SHANK 1-1/8"X6" MAKE/MODEL De 225 250 L/P	25.0000	ST	\$ 279.35	
62	DIST 2 3" DRIVE CAPW/SHANK 1-1/8"X 6" MAKE/MODEL DC 2 50 300 LP	25.0000	ST	\$ 282.1Y	\$ 7,053.50
63	DIST 2 14 GA SQ POST 2" OD X 8' MAKE/MODEL ZODIZ POBPL	100.0000	EA	* 22.95	\$ 2,295.00
64	DIST 2 14 GA SQ POST 2" OD X 10' MAKE/MODEL <u>LOD</u> 12 P LO PG	100.0000	EA	728.75	7 7,875.60
65	DIST 2 14 GA SQ POST 2" OD X 12' MAKE/MODEL ZODIZ PIZPG	100.0000	EA	34.45	3,445.60
				R43	530 NE999003R43530 NE999003 20210114

Date	10/26/23		Page	8 of 27
Solicitation	Number	6817 OF		
Opening D	ate and Time	11/08/23	2:00 բ	om
Buyer		SENSIBAU	GH, BREN	IDA

DESTINATION OF GOODS MULTIPLE DELIVERY LOCATIONS PLEASE REFER TO DOCUMENTATION

FOR DELIVERY ADDRESSES.

		INVITATION			
1 !	Description	Quantity	Unit of Measure	Unit Price	Extended Price
Line	Description	Quantity	weasure	_	ſ
66	DIST 3	25.0000	ST	\$ 51.82	1,295,50
	BARRICADE SUPPORT W/DETACHABLE BRACKETS				
	MAKE/MODEL TBB3A Z			\$ 10.00	\$ 3,999.00
67	DIST 3	310.0000	EA	* 12.90	<u> </u>
	12 GA SQ ANCH 2-1/4" OD X 36" TA MAKE/MODEL 27 FIZA 05 ZZF 12403	PL		,	
68	DIST 3	25.0000	EA	[₹] 7.85	\$ 196.25
00	12 GA SQ SLEEVE 2-1/2" X 18".		 -		
	MAKE/MODEL 24F/2APC		_	\$ 68.10	\$ 4.086.00
69	DIST 3 12 GA SQ POST 1-3/4" OD X 24' 0,	60.0000	EA	<u> </u>	1,000.
	MAKE/MODEL 16FR-24-PL			\$ - 5-	\$ 00
70	DIST 3	50.0000	EA	^{\$} 78.50	\$ 3,925.00
	12 GA SQ POST 2" OD X 24' MAKE/MODEL ZOF12-24-PL			•	
74		610.0000	EA	* 33.90	\$ 20,679.00
71	DIST 3 12 GA SQ POST 2" OD X 10'				
	MAKE/MODEL ZOF 12 PIOPY		11 13 13 15 시기 2 2명 1 1명 함께 1	\$40.60	\$ 3.045.00
72	DIST 3 12 GA SQ POST 2" OD X12"	175.0000	EA		(1995 <u>- 1985년)</u> 1980년 - <mark>198</mark> 1년
	MAKE/MODEL 20FPPP				\$ 00
73	DIST 3	350.0000	EA	\$ 31.20	10,920,00
	12 GA SQ OMNI ANCH 2-1/4" OD X 3'				
	MAKE/MODEL ZZFILODAOJPL			\$ 2720	\$680,00
74	DIST 3	25.0000	EA	<u> </u>	
	12 GA SQ OMNI SLEEVE 2-1/2" x 18"				
	MAKE/MODEL 24/12011 A PG			\$ 30,60	1 765,00
75	DIST 3	25.0000	EA		
	10 GA SQ POST 2-3/16" OD X 5' MAKE/MODEL 2HPOSPO			\$ 11.00	
76	DIST 3	35.0000	EA	+ 146.20	5,117.00
				F	843530 NE999003R43530 NE999003 2021011

Date	10/26/23		Page 9 of 27
Solicitation	Number	6817 OF	
Opening Dat	e and Time	11/08/23	2:00 pm
Buyer		SENSIBAU	IGH, BRENDA

		INVITATION			
			Unit of		Extended
Line	Description	Quantity	Measure	Unit Price	Price
	10 GA SQ POST 2-1/2" OD X 24' MAKE/MODEL <u>24H/2 - 2</u> Y - P -			r	,
		05.000	5 4	* 36.73	\$ 918.25
77	DIST 3 7 GA HD ANCH 2-1/2"X36"	25.0000	EA	36	
	MAKE/MODEL HOAZOO-36-6			t	de las
78	DIST 3	25.0000	EA	73.76	\$ 1.844.00
, 0	7 GA HD WINGED ANCH 3"X36"				
	MAKE/MODEL TWAZSO-36-G			\$ 44.79	\$ 1,094.75
79	DIST 3	25.0000	EA	44.19	1,011.
	7 GA HD PERM ANCH 3"X36" MAKE/MODEL <u>HDA250-7</u> 上-				•
				\$ 87.13	\$2,178.25
80	DIST 3 7 GA UNI-BASE PERM ANCH	25.0000	EA		
	2"V 26"				
	MAKE/MODEL SBS.CTA48-G			\$ 120.90	\$ 3,022.50
81	DIST 3	25.0000	EA	120.10	3,020.
	7 GA UNI-BASE WINGED ANCH 3"X48"			et di Salah Maria Maria	
	MAKE/MODEL 583-CTW448-6				······································
82	DIST 3	25.0000	EA	A 55.51	\$ 1,387.75
	TOP REDI TORQUE RECEIVER				
	2-1/2" MAKE/MODEL 588C-250A-G				, in the second of the second
		OF 0000	EA	≠ 20.18	\$ 504.50
83	DIST 3 REDI TORQUE HARDWARE KIT 1	25.0000	EA		
	MAKE/MODEL 275B MPHOW			\$ 113	\$ 27660
84	DIST 3	200.0000	EA	F 1.13	1226.00
	ANCH FLANGE BOLT 3/8"X3-1/2" MAKE/MODEL 68 FSB 3 8-35.2				
	MAKE/MODEL G8/3039 33	•		\$ 67.00	\$, 550,00
85	DIST 3	25.0000	ВХ	<u> </u>	1,330.
	SMALL CORNER BOLT W/NUT MAKE/MODEL <u>CBS16-5-2</u>			4	L
00		25.0000	вх	7 59.00	⁷ 1 475.60
86	DIST 3 MED CORNER BOLT W/NUT	25.0000	ĐΛ		
	MAKE/MODEL CBS16-M- 2			a	43530 NE999003R43530 NE999003 20210114
				.,	

Date	10/26/23		Page	10 of 27
Solicitation	n Number	6817 OF		
Opening D	ate and Time	11/08/23	2:00 p	m
Buyer		SENSIBAU	GH, BREN	DA

DESTINATION OF GOODS MULTIPLE DELIVERY LOCATIONS

MULTIPLE DELIVERY LOCATIONS PLEASE REFER TO DOCUMENTATION FOR DELIVERY ADDRESSES.

		INVITATION			
Line	Description	Quantity	Unit of Measure	Unit Price	Extended Price
87	DIST 3 SIGN BRACKET 12'	25.0000	EA	\$ 56.∞	* 4400.00
88	MAKE/MODEL ASB76091-12-	25.0000	вх	\$ 80,00	\$ 2,000.00
	2" POST HARDWARE (CLAMPS FOR BRACING) MAKE/MODELSBPC 3 2005 &			\$ 05.00	\$ 2,125,00
89	DIST 3 2-1/2" POST HARDWARE (CLAMPS FOR BRACING) MAKE/MODEL	25.0000	вх	83,	<u></u>
90	DIST 3 2" POST HARDWARE	25.0000	вх	\$ 77.50	\$ 1,937.50
	(CLAMPS FOR EXTRUDED PANEL) MAKE/MODEL EMCS 200 5 @			\$ 79.00	\$ 1,975.00
91	DIST 3 2-1/2" POST HARDWARE (CLAMPS FOR EXTRUDED PANEL) MAKE/MODEL	25.0000	BX		
92	DIST 3	25.0000	ВХ	\$ 68.00	\$ 1,700.°°
93	MAKE/MODEL DEAS 3878-06-W DIST 3 2" DRIVE CAP W/SHANK	25.0000	ST	\$ 263.87	\$ 6,596.75
	1-1/8" x 6" MAKE/MODEL 0C160225LP			\$ 279.3	6,983.75
94	DIST 3 2-1/4" DRIVE CAP W/SHANK 1-1/8" x 6" MAKE/MODEL OCUS 250 UR	25.0000	ST	011.	<u> </u>
95	DIST 3 3" DRIVE CAP W/SHANK	25.0000	ST	₹282.14	[₹] 7,053.5°
	1-1/8" x 6" DC 250360LR			\$ 51.82	\$ 1.295.50
96	DIST 3	25.0000	ST		43530 NE999003R43530 NE999003 20210114

Date	10/26/23		Page	11	of 27
Solicitation I	Number	6817 OF			
Opening Dat	e and Time	11/08/23	2:00 pi	m	
Buyer		SENSIBAU	GH, BRENI	DA	

		INVITATION			
Line	Description BARRICADE SUPPORT W/DETACHABLE BRACKETS MAKE/MODEL TBB3A - 2	Quantity	Unit of Measure	Unit Price	Extended Price
97	DIST 3 14 GA SQ POST 2" OD X 8' MAKE/MODEL ZODI 2 POSPG	250.0000	EA		\$ 5,737,50
98	DIST 3 14 GA SQ POST 2" OD X 10' MAKE/MODEL ZD12Ploph	250.0000	EA		\$ 7,187.50 \$ 0,12.50
99	DIST 3 14 GA SQ POST 2" OD X 12' MAKE/MODEL ZODIZPIZPI	250.0000	EA	\$ 34.45	
100	DIST 4 12 GA SQ ANCH 2-1/4" OD X 36" MAKE/MODEL ZZFIZA 03 PC	925.0000	EA	\$ <u>12.90</u>	
101	DIST 4 12 GA SQ SLEEVE 2-1/2" X 18" MAKE/MODEL 24FICAPC	25.0000	EA	\$ <u>7.85</u>	4 196.25
102	DIST 4 12 GA SQ POST 1-3/4" OD X 24' MAKE/MODEL 16 F16 - 24-96-	100.0000	EA	\$ 68.10	\$ 6,810.00
103	DIST 4 12 GA SQ POST 2" OD X 24" MAKE/MODEL 26F12-E4-PG-	45.0000	EA	78.50	\$1,962.50
104	DIST 4 12 GA SQ POST 2" OD X 10' MAKE/MODEL ZOF/LPIOPL	1,275.0000	EA	¥ <u>33.90</u>	43,222.50
105	DIST 4 12 GA SQ POST 2" OD X 12' MAKE/MODEL ZOFTPIZPG	585.0000	EA	\$40.60	\$ 23,751.00
106	DIST 4 12 GA SQ OMNI ANCH 2-1/4" OD x 3' MAKE/MODEL ZZF(26DA 03/6	2,330.0000	EA	\$ 31,20	\$ 72,696.00

Date	10/26/23		Page 12 of 27
Solicitation	n Number	6817 OF	
Opening D	ate and Time	11/08/23	2:00 pm
Buyer		SENSIBAU	GH, BRENDA

DESTINATION OF GOODS MULTIPLE DELIVERY LOCATIONS PLEASE REFER TO DOCUMENTATION

FOR DELIVERY ADDRESSES.

		INVITATION			
Line 107	Description DIST 4 12 GA SQ OMNI SLEEVE	Quantity 25.0000	Unit of Measure EA	Unit Price	Extended Price
	2-1/2" OD X 18" MAKE/MODEL 24FIZODAPL			\$ 30.60	\$ 765.00
108	DIST 4 10 GA SQ POST 2-3/16" OD X 5' MAKE/MODEL	25,0000	EA		
109	DIST 4 10 GA SQ POST 2-1/2" OD X 24' MAKE/MODEL <u>24H12-24-</u>	25.0000	EA	146.20	*3,655.*°
110	DIST 4 7 GA HD ANCH 2-1/2" X 36" MAKE/MODEL	70.0000	EA	* <u>36.73</u>	\$ 2,571.10
111	DIST 4 7 GA HD WINGED ANCH 3" X 36" MAKE/MODEL TW 4 250-36-6	25.0000	EA	\$\frac{73.76}{}	\$1,844.00
112	DIST 4 7 GA HD PERM ANCH 3" X 36" MAKE/MODEL	25.0000	EA	\$ 43.79	\$ 1,094.75
113	DIST 4 7 GA UNI-BASE ANCH 3" X 48"	33.0000	EA	\$ 87,13	\$ Z,875.29
114	MAKE/MODEL 588-C74 48 G DIST 4 7 GA UNI-BASE WINGED ANCH 3"X48"	50.0000	EA	\$ 120.90	b,045.00
115	DIST 4 TOP REDI-TORQUE RECIEVER	50.0000	EA	\$ 55,51	\$ 2,775.50
116	2-1/2" MAKE/MODEL SBBC - 250A - G DIST 4	55.0000	EA	\$ 20.18	\$ 1,109.90
117	MAKE/MODEL XTSB-MPHOW DIST 4 ANCH FLANGE BOLT 3/8" X 3-1/2"	1,535.0000	EA	± 1.13	\$ <u>1,735.55</u>

Date	10/26/23		Page	13	of 27
Solicitation	Number	6817 OF			
Opening Da	ate and Time	11/08/23	2:00 p	m	
Buyer		SENSIBAU	GH, BREN	IDA	

DESTINATION OF GOODS

MULTIPLE DELIVERY LOCATIONS
PLEASE REFER TO DOCUMENTATION
FOR DELIVERY ADDRESSES.

R43530 NE999003R43530|NE999003 20210114

		INVITATION	No Park I		
Line	Description MAKE/MODEL 68F5B38-35-2	Quantity	Unit of Measure	Unit Price	Extended Price
118	DIST 4 SMALL CORNER BOLT W/NUT MAKE/MODEL	2.0000	вх	\$ 62.00	124.00
119	DIST 4 MED CORNER BOLT W/NUT MAKE/MODEL	13.0000	вх	59.00	767.00
120	DIST 4 SIGN BRACKET 12' MAKE/MODEL ASBROOP/-/2	35.0000	EA	\$ 56.00	1,960.00
121	DIST 4 2" POST HARDWARE (CLAMPS FOR BRACING)	10.0000	вх	\$ 80.00	\$ 800.00
122	MAKE/MODEL SBPCS 2005Q DIST 4 2-1/2" POST HARDWARE	7.0000	вх	₹85.00	595.00
123	(CLAMPS FOR BRACING) MAKE/MODEL SBPC52505Q DIST 4	5.0000	BX	4 77.50	\$ 387.50
	2" POST HARDWARE (CLAMPS FOR EXTRUDED PANEL) MAKE/MODEL EPPCS 2005 Q			\$ 79.00	\$ 395.60
124	DIST 4 2-1/2" POST HARDWARE (CLAMPS FOR EXTRUDED PANEL) MAKE/MODEL FORCE 2505 Q	5.0000	вх		,
125	DIST 4 3/8" DRIVE RIVET MAKE/MODEL _DRAS3878 - D6- W	36.0000	вх	\$ 68.00	\$ Z,448.60
126	DIST 4 2" DRIVE CAP W/SHANK 1-1/8"X6" MAKE/MODEL DC200225 CP	5.0000	ST	\$ <u>263.87</u>	\$ 1,319.35
127	DIST 4 2-1/4" DRIVE CAP W/SHANK 1-1/8"X6"	5.0000	ST	\$ 279.35	1,396.13

Date	10/26/23		Page	14 of 27
Solicitation	n Number	6817 OF		
Opening D	ate and Time	11/08/23	2:00	pm
Buyer		SENSIBAU	NDA	

INVITATION							
Line	Description MAKE/MODEL DCZISISOLR	Quantity	Unit of Measure	Unit Price	Extended Price		
128	DIST 4 3" DRIVE CAP W/SHANK 1-1/8"X6" MAKE/MODEL DC250360LR	5.0000	ST	₹ <u>282.14</u>	1,410.		
129	DIST 4 BARRICADE SUPPORT W/DETACHABLE BRACKETS MAKE/MODEL TBB3 A · Z	5.0000	ST	+ <u>Sl.87</u>	\$ 259. ¹⁰		
130	DIST 4 14 GA SQ POST 2" OD X 8' MAKE/MODEL 20D12 POSPG	400.0000	EA	\$ 22.95	\$ 9,180.00 ★		
131	DIST 4 14 GA SQ POST 2" OD X 10' MAKE/MODEL 2-DIZP 16PL	400.0000	EA	7 28.75	* 11,500.00		
132	DIST 4 14 GA SQ POST 2" OD X 12' MAKE/MODEL 20) 2 12 12 12 12 12 12 12	400.0000	EA	\$ 34.45	* 13,780.60 \$ 7,716,00		
133	DIST 5 12 GA SQ ANCH 2-1/4" OD X 36", MAKE/MODEL 22 F12 A + 5 PL	600.0000	EA	† 12.90 † 7.05	<u>1, 740.</u>		
134	DIST 5 12 GA SQ SLEEVE 2-1/2" X 18" MAKE/MODEL24F12APF	192.0000	EA	7,85	1,567.20		
135	DIST 5 12 GA SQ POST 1-3/4" OD X 24' MAKE/MODEL _\6H2-24-16-	33.0000	EA	\$ 68.10	* 2.247.30		
136	DIST 5 12 GA SQ POST 2" OD X 24' MAKE/MODEL 20512-24-96-	10.0000	EA	3 <u>78.50</u>	785.60		
137	DIST 5 12 GA SQ POST 2" X 10' MAKE/MODEL ZOFIZPIOPL	25.0000	EA	33.90	7 <u>847.70</u>		
138	DIST 5 12 GA SQ POST 2" OD X 12'	25.0000	EA	\$ 40.60 F	7 1,0(5.00 R43530 NE999003R43530 NE999003 20210114		

Date	10/26/23		Page 15 of 27
Solicitation	n Number	6817 OF	
Opening D	ate and Time	11/08/23	2:00 pm
Buyer		SENSIBAU	GH, BRENDA

		INVITATION			
Line	Description MAKE/MODEL 20F12P12P4	Quantity	Unit of Measure	Unit Price	Extended Price
139	DIST 5 12 GA SQ OMNI ANCH	800.0000	EA	\$ 31,20	* 24,960.80
140	MAKE/MODEL ZZFIZODA63PL DIST 5 12 GA SQ OMNI SLEEVE	470.0000	EA	27.20	\$ 12,784.00
141	2-1/2" OD x 18" MAKE/MODEL 24F/20DA PL DIST 5 10 GA SQ POST 2-3/16" OD X 5' MAKE/MODEL 21H/2F059L	25.0000	EA	\$ 30.60	\$ 765.00
142	MAKE/MODEL 214/2/05/76 DIST 5 10 GA SQ POST 2-1/2" OD X 24' MAKE/MODEL 24/12-24-1/6	25.0000	EA	\$ 146.20	\$ 3,655.00
143	DIST 5 7 GA HD ANCH 2-1/2" X 36" MAKE/MODEL	25.0000	EA	* 36.73	\$ 918.25
144	DIST 5 7 GA HD PERM ANCH 3" X 36" MAKE/MODEL TW A250-36-6	50.0000	EA	* <u>73.76</u>	\$ 3.688.°°
145	DIST 5 7 GA HD PERM ANCH 3" X 36" MAKE/MODEL ** ** ** ** ** ** ** ** ** ** ** ** **	25.0000	EA	\$ 43.79	1,094.75
146	DIST 5 7 GA UNI-BASE ANCH 3" X 48" MAKE/MODEL SBS-CPA48-6	25.0000	EA	* 87.13 L	\$ 2,178,25
147	DIST 5 7 GA UNI-BASE WINGED ANCH	35.0000	EA	* 120.90	* 4,231.50
148	MAKE/MODEL SB8-CTWAY8-G- DIST 5 TOP REDI-TORQUE RECIEVER 2-1/2" MAKE/MODEL SB8C-250A-G-	25.0000	EA	\$ 55.51	1,387.75

Date	10/26/23	358	Page	16	of 27
Solicitation	Number	6817 OF			
Opening D	ate and Time	11/08/23	2:00 p	m	
Buyer		SENSIBAU	GH, BREN	DA	

		NVITATION			
Line	Description	Quantity	Unit of Measure	Unit Price	Extended Price
149	DIST 5 REDI TORQUE HARDWARE KIT MAKE/MODEL RTSB-MIHOW	25.0000	EA	\$ 20.18	\$ 504.50
150	DIST 5 ANCH FLANGE BOLT 3/8" X 3-1/2" MAKE/MODEL GSF5B38-35-2	100.0000	EA	\$ 1.13 \$ 1.260	\$ 113.00
151	DIST 5 SMALL CORNER BOLT W/NUT MAKE/MODELCBSIL-5-2	25.0000	вх	62.	1,550.
152	MED CORNER BOLT W/NUT MAKE/MODEL CB5/6-M-2	11.0000	вх	\$ 59.00	647.
153	DIST 5 SIGN BRACKET 12' ASB20011-12	110.0000	EA	\$ 56.00	* 6,160,00°
154	DIST 5 2" POST HARDWARE (CLAMPS FOR BRACING) MAKE/MODEL SBPC5200SQ	35.0000	BX	\$ 80.00	\$ 2,860.60
155	DIST 5 2-1/2" POST HARDWARE (CLAMPS FOR BRACING) MAKE/MODEL	25.0000	BX	\$ 85.00	72, 125.60
156	DIST 5 2" POST HARDWARE (CLAMPS FOR EXTRUDED PANEL) MAKE/MODEL ENCS 2005	5.0000	вх	77.50	³ 387.5°
157	DIST 5 2-1/2" POST HARDWARE (CLAMPS FOR EXTRUDED PANEL) MAKE/MODEL FIRES 2505	3.0000	вх	()-	237.00
158	DIST 5 3/8" DRIVE RIVET MAKE/MODEL DAS 3 9 78 - 66 - W	23.0000	вх	* 68.00	1,564.00

Date	10/26/23		Page 17 of 27
Solicitation	Number	6817 OF	
Opening Da	te and Time	11/08/23	2:00 pm
Buyer		SENSIBAU	GH, BRENDA

DESTINATION OF GOODS MULTIPLE DELIVERY LOCATIONS PLEASE REFER TO DOCUMENTATION

FOR DELIVERY ADDRESSES.

	NAMES OF A STATE OF THE PARTY O	INVITATION		E PENDEN	建筑大学
Line 159	Description DIST 5 2" DRIVE CAP W/SHANK 1-1/8"X6"	Quantity 5.0000	Unit of Measure ST	Unit Price	Extended Price 3 19.35
160	MAKE/MODEL DC268225CR DIST 5 2-1/4" DRIVE CAP W/SHANK 1-1/8"X6" MAKE/MODEL DC22525UL	5.0000	ST	\$ 279.35	\$ 1,396.75
161	DIST 5 3" DRIVE CAP WISHANK 1-1/8"X6" MAKE/MODEL DCZSP 360C/2	5.0000	ST	± 282.14	
162	DIST 5 BARRICADE SUPPORT W/DETACHABLE BRACKETS MAKE/MODEL TBBA3-7	5.0000	ST	* 51.82	* <u>Z59.10</u>
163	DIST 5 14 GA SQ POST 2" OD X 8' MAKE/MODEL ZODIZPOSPL	300.0000	EA	72.95	\$ 6,885.80
164	DIST 5 14 GA SQ POST 2" OD X 10' MAKE/MODEL 20D (2 Plaph	300.0000	EA	\$ 28.75	\$ 10 22500
165	DIST 5 14 GA SQ POST 2" OD X 12' MAKE/MODEL ZODIZPIZPL	300.0000	EA	*34.45	10,555.
166	DIST 6 12 GA SQ ANCH 2-1/4" OD X 36" MAKE/MODEL	1,116.0000	EA	± 12.90	\$ 14,396.40
167	DIST 6 12 GA SQ SLEEVE 2-1/2" X 18" MAKE/MODEL 24 F/2 APG	458.0000	EA	† 7.85	3,595.30
168	DIST 6 12 GA SQ POST 1-3/4" OD X 24' / 6 MAKE/MODEL _ / 6 F 12 - 24 - 1 6	25.0000	EA	* (0 8 . 10	1,702.50
169	DIST 6 12 GA SQ POST 2" OD X 24'	10.0000	EA	78.50	785.60 43530 NE999003R43530 NE999003 20210114

Date	10/26/23		Page 18 of 27
Solicitation	Number	6817 OF	
Opening D	ate and Time	11/08/23	2:00 pm
Buyer		SENSIBAU	GH, BRENDA

DESTINATION OF GOODS MULTIPLE DELIVERY LOCATIONS

PLEASE REFER TO DOCUMENTATION FOR DELIVERY ADDRESSES.

		INVITATION			
Line	Description MAKE/MODEL ZOF/2-24-PL	Quantity	Unit of Measure	Unit Price	Extended Price
170	DIST 6 12 GA SQ POST 2" OD X 10' MAKE/MODEL ZOFRPIOPG	483.0000	EA	\$ 33.90	* 16,373.70
171	DIST 6 12 GA SQ POST 2" OD X 12' MAKE/MODEL ZOF(ZP 2)	325.0000	EA	+ 46.60	\$ 13,195.68
172	DIST 6 12 GA SQ OMNI ANCH	183.0000	EA	\$ 31.20	\$ 5,709.60
173	DIST 6 12 GA OMNI SLEEVE	25.0000	EA	\$ 27.20	\$ 680.00
174	2-1/2"OD x 18" MAKE/MODEL 24FR6DAPL DIST 6 10 GA SQ POST 2-3/16" OD X 5'04	25.0000	EA	\$ 30.60	\$ 765.60
175	10 GA SQ POST 2-3/16" OD X 5' PL- MAKE/MODEL 2[H12 PO 5 PL- DIST 6 10 GA SQ POST 2-1/2" OD X 24' PL-	25.0000	EA	\$ 146.20	\$3,655,00
176	MAKE/MODEL <u>24H12-24-P-</u> DIST 6 7 GA HD ANCH 2-1/2" X 36"	50.0000	EA	¥ 36.73	\$ 1,836.50
177	DIST 6 7 GA HD WINGED ANCH 3" X 36"	10.0000	EA	\$ <u>73.76</u>	\$ 737.60
178	DIST 6 7 GA HD PERM ANCH 3" X 36"	10.0000	EA	¥ <u>43.79</u>	* <u>437.90</u>
179	MAKE/MODEL HDA 250-36-6 DIST 6 7 GA UNI-BASE ANCH 3" X 48"	25.0000	EA	\$ 87.13	\$ 2,178.25
180	MAKE/MODEL 588 - CTAY8- G	15.0000	EA	\$ 120.90	\$ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \

Date	10/26/23		Page 19 of 27		
Solicitation	n Number	6817 OF			
Opening D	ate and Time	11/08/23	2:00 pm		
Buyer		SENSIBAUGH, BRENDA			

		INVITATION			
Line	Description 7 GA UNI-BASE WINGED ANCH 3"X48"	Quantity	Unit of Measure	Unit Price	Extended Price
181	MAKE/MODEL SB8-CTWA 49-6- DIST 6 TOP REDI-TORQUE RECEIVER 2-1/2"	40.0000	EA	\$ 55.51	\$ 2,220,40
182	MAKE/MODEL SB&C-250-A-G DIST 6 REDI-TORQUE HARDWARE KIT MAKE/MODEL RTIB-MPH OW	72.0000	EA	\$ 20,18	\$ 1,452.96
183	DIST 6 ANCH FLANGE BOLT 3/8" X 3-1/2" MAKE/MODEL 68F5838-35-2	335.0000	EA	1 113	⁷ 378. ⁵³
184	DIST 6 SMALL CORNER BOLT W/NUT MAKE/MODEL C356-5-2	5.0000	вх	\$ 62.60	\$ 310.00
185	MED CORNER BOLT WINUT MAKE/MODEL CB516-M-2	143.0000	ВХ	59.00	78,437.00
186	DIST 6 SIGN BRACKET 12' ASBLOOP - 12 MAKE/MODEL ASBLOOP - 12	70.0000	EA	756.60	₹ 3,920. [®]
187	DIST 6 2" POST HARDWARE (CLAMPS FOR BRACING)	23.0000	вх	\$ 80.00	\$ 1,840.60
188	MAKE/MODEL SBPC32005Q DIST 6 2-1/2" POST HARDWARE (CLAMPS FOR BRACING)	5.0000	вх	\$ 85.00	\$ 425.60
189	CLAMPS FOR BRACING) MAKE/MODEL 5B CS 2 SO SQ DIST 6 2" POST HARDWARE	5.0000	вх	\$ 77.50	1387.50
190	(CLAMPS FOR EXTRUDED PANEL) MAKE/MODEL FPICS 2005 Q DIST 6	3.0000	вх	\$ 79.60 RA	\$ 237.60 3530 NE999003R43533 NE999003 2021011

Date	10/26/23		Page	20 of 27	
Solicitation	Number	6817 OF		· · · · · · · · · · · · · · · · ·	
Opening Da	te and Time	11/08/23	2:00	om	
Buyer		SENSIBAUGH, BRENDA			

DESTINATION OF GOODS MULTIPLE DELIVERY LOCATIONS PLEASE REFER TO DOCUMENTATION

FOR DELIVERY ADDRESSES.

		INVITATION			
Line	Description 2-1/2" POST HARDWARE	Quantity	Unit of Measure	Unit Price	Extended Price
191	CLAMPS FOR EXTRUDED PANEL) MAKE/MODEL	23.0000	вх	\$ 68.00	\$ 1,564.00
192	DIST 6	5,0000	ST	‡ 263.87	\$ 1,319.35
193	2" DRIVE CAP W/SHANK 1-1/8"X6" MAKE/MODEL DC260 225 CP DIST 6	5.0000	ST	\$279.35	\$ 1,396.75
193	2-1/4" DRIVE CAP W/SHANK 1-1/8"X6" MAKE/MODEL DC 225 250 UR		J.	+	
194	DIST 6 3" DRIVE CAP WISHANK 1-1/8"X6" MAKE/MODEL DC 250300LZ	525.0000	ST	782,14	\$ 148,123.50
195	DIST 6 BARRICADE SUPPORT W/DETACHABLE	5.0000	ST	₹ <u>51.82</u>	^{\$} 259.10
196	MAKE/MODEL NBH3-E	200.0000	EA	\$ 22.95	\$ 4,590.60
197	14 GA SQ POST 2" OD X 8' MAKE/MODEL ZODIZPOSPL DIST 6	200.0000	EA	* 28,75	\$ <u>5,750.</u> 8
198	14 GA SQ POST 2" OD X 10' MAKE/MODEL 20DIZP10 PL DIST 6	200.0000	EA	\$34.45	t 6.890.00
	14 GA SQ POST 2" OD X 12 PIZPIZPIC MAKE/MODEL ZOD 12 PIZPIZPIC				\$ 7.064.00
199	DIST 7 12 GA SQ ANCH 2-1/4" OD X 36" 06— MAKE/MODEL <u>22 F12 A 0 3</u> 06—	160.0000	EA	4	\$15070
200	DIST 7 12 GA SQ SLEEVE 2-1/2" X 18" MAKE/MODEL 24 FIR APL	192.0000	EA	77.85	13530 NE999003R43533)NE999003 20210114

Date	10/26/23		Page	21	of 27
Solicitation	Number	6817 OF			
Opening Da	te and Time	11/08/23	2:00 p	m	
Buyer		SENSIBAUGH, BRENDA			

INVITATION							
Line	Description	Quantity	Unit of Measure	Unit Price	Extended Price		
201	DIST 7 12 GA SQ POST 1-3/4" OD X 24' MAKE/MODEL 16 F12-24-PG	25.0000	EA	\$68.10	\$ 1,702.50		
202	DIST 7 12 GA SQ POST 2" OD X 24' MAKE/MODEL 26F12-24-11-	100.0000	EA	\$ 78.50	\$ 7,850.00		
203	DIST 7 12 GA SQ POST 2' OD X 10' MAKE/MODEL ZOFRPIOPL	485.0000	EA	³ 33.90 ±	\$ 16,441.50		
204	DIST 7 12 GA SQ POST 2" OD X 12' MAKE/MODEL ZOFRPP	235.0000	EA	\$ 40.60	\$ 9,541.00		
205	DIST 7 12 GA SQ OMNI ANCH	100.0000	EA	\$ 31.20	₹ <u>3,120,60</u>		
206	22 F 20 DA 3 P 22 F 26 DA 03 P 22 F 26 DA 03 P 24 F 24 F 20 DA P 24 F 25 DA P 25 DA P 24 F 25 DA P 24 F 25 DA P 25 DA P	25.0000	EA	\$ 27.20	⁴ 680,60		
207	DIST 7 10 GA SQ POST 2-3/16" OD \$ 5' MAKE/MODEL 21 H 12 P 65 P 6	25.0000	EA I	\$ 36.60	765.60		
208	DIST 7 10 GA SQ POST 2-1/2" OD X 24' MAKE/MODEL 24H/2-24-PG	25.0000	EA	7146.20	\$ 3,655.00		
209	DIST 7 7 GA HD ANCH 2-1/2" X 36" MAKE/MODEL HDH 700 - 36-6	25.0000	EA	\$ 36.73	918.75		
210	DIST 7 7 GA HD WINGED ANCH 3" X 36"	25.0000	EA	73.76	7 1,844.00		
211	MAKE/MODEL	25.0000	EA	4 43.79	\$\frac{1,094.75}{1,094.75}		

Date	10/26/23		Page	22 of 27	
Solicitation	Number	6817 OF			
Opening Da	te and Time	11/08/23	2:00	pm	
Buyer		SENSIBAUGH, BRENDA			

		INVITATION			
Line	Description MAKE/MODEL HDAZSO-36-6	Quantity	Unit of Measure	Unit Price	Extended Price
212	DIST 7 7 GA UNI-BASE ANCH 3" X 48" MAKE/MODEL SBS-CTA 48-6	25.0000	EA	* <u>87.13</u>	\$ 2,178. ²⁵
213	DIST 7 7 GA UNI-BASE WINGED ANCH	25.0000	EA	* 120.90	\$ 3,022.50
214	MAKE/MODEL SBS CTWAY8-6 DIST 7	10.0000	EA	\$ 55.51	\$ 555.10
	TOP REDI-TORQUE RECEIVER 2-1/2" MAKE/MODEL SB8C-250A-6		p=- A	\$ 70. ⁽⁸	4625.58
215	REDI-TORQUE HARDWARE KIT MAKE/MODEL RISB-MP140W	31.0000	EA	\$ 1.13	\$78.25
216	DIST 7 ANCH FLANGE BOLT 3/8" X 3-1/2" MAKE/MODEL 68F5838-35-2	25.0000	EA		<u> </u>
217	DIST 7 SMALL CORNER BOLT W/NUT MAKE/MODEL CB56-S-Z	5.0000	вх	\$ 62.00	310. ₀₀
218	DIST 7 MED CORNER BOLT W/NUT MAKE/MODEL CB 516 - M - 2	10.0000	вх	\$ 59,00	\$ 590.00
219	DIST 7 SIGN BRACKET 12'ASB200P1-12	25.0000	EA	\$ 56.60	\$ 1,400.00
220	DIST 7 2" POST HARDWARE	5.0000	вх	\$ 80,00	F 400.00
221	(CLAMPS FOR BRACING) MAKE/MODEL SBICS 2005 & DIST 7 2-1/2" POST HARDWARE	5.0000	вх	\$ 85,60	\$ 425,00
	(CLAMPS FOR BRACING) MAKE/MODEL			5 .	13230 NE000003B43230NE000003 20340444

Date	10/26/23		Page	23 of 27	
Solicitation	Number	6817 OF			
Opening D	ate and Time	11/08/23	2:00	pm	
Buyer		SENSIBAUGH, BRENDA			

		INVITATION			
Line	Description	Quantity	Unit of Measure	Unit Price	Extended Price
222	DIST 7 2" POST HARDWARE (CLAMPS FOR EXTRUDED PANEL)	5.0000	вх	* 77.50	\$387.50
223	DIST 7 2-1/2" POST HARDWARE (CLAMPS FOR EXTRUDED PANEL)	15.0000	вх	*79,00	\$ 1,185.00
224	MAKE/MODEL PPC525050. DIST 7 3/8" DRIVE RIVET MAKE/MODEL DRAS3878-86-W	236.0000	вх	4 68.60	\$ 16 048.00
225	DIST 7 2" DRIVE CAP W/SHANK 1-1/8"X6" MAKE/MODEL DC26-72) C/C	5.0000	ST	\$ 263.87 1	•
226	DIST 7 2-1/4" DRIVE CAP W/SHANK 1-1/8"X6" MAKE/MODEL DC225256CR	5.0000	ST	7 279.35	1,316.75
227	DIST 7 3" DRIVE CAP W/SHANK 1-1/8"X6" MAKE/MODEL DC2SD 366LP	5.0000	ST	\$ 282.14	\$1,410.70
228	DIST 7 BARRICADE SUPPORT W/DETACHABLE BRACKETS TOP A 3 - 2	5.0000	ST	\$51.82	7 259.10
229	DIST 7 14 GA SQ POST 2" OD X 8' MAKE/MODEL 26D/12/03/6-	200.0000	EA	[*] 22.95	4,590.60
230	MAKE/MODEL 280/2/02/0 DIST 7 14 GA SQ POST 2" OD X 10' MAKE/MODEL 260/2/09/0	200.0000	EA	\$ 28.75	\$5,750.00 1
231	DIST 7 14 GA SQ POST 2" OD X 12 12 12 12 12 12 12 12 12 12 12 12 12	200.0000	EA	[*] 34.45	76,890.60

Date	10/26/23		Page	24 of 27
Solicitation	Number	6817 OF	·	
Opening Da	te and Time	11/08/23	2:00	pm
Buyer		SENSIBAU	GH, BREN	NDA

		INVITATION			
Line 232	Description DIST 8 12 GA SQ ANCH 2-1/4" OD X 36" MAKE/MODEL 22 F 2 A03 PC	Quantity 125.0000	Unit of Measure EA	,Unit Price \$ \7.90	Extended Price 1 6 17.50
233	DIST 8 12 GA SQ SLEEVE 2-1/2" X 18" MAKE/MODEL 2412 A PV	5.0000	EA	\$ 7.85	*39.25
234	DIST 8 12 GA SQ POST 1-3/4" OD X 24' MAKE/MODEL 16F12-24-PF	58.0000	EA	* 68.10	\$ 3,949.80
235	DIST 8 12 GA SQ POST 2" OD X 24' MAKE/MODEL 20F12-24-PL	100.0000	EA	* 78.5°	\$ 7,850.00
236	DIST 8 12 GA SQ POST 2' OD X 10' MAKE/MODEL ZOFIZPIO F	440.0000	EA	\$ 33.90	\$ 14,916.00
237	DIST 8 12 GA SQ POST 2" OD X 12' MAKE/MODEL 20 F(2) F12PL	100.0000	EA	40.60	\$ 4,060.00
238	DIST 8 12 GA SQ OMNI ANCH 2-1/4" OD X 3' MAKE/MODEL 22F/2 6DA63P6-	390.0000	EA	731.20	12,16800
239	DIST 8 12 GA SQ OMNI SLEEVE 2-1/2" OD X 18" MAKE/MODEL 24 FIR 6 DAPL	25.0000	EA	\$ 27.20	F 480.00
240	DIST 8 10 GA SQ POST 2-3/16" OD X 5' MAKE/MODEL 21+12-10-596-	25.0000	EA	\$30.60	\$ 765.00
241	DIST 8 10 GA SQ POST 2-1/2" OD X 24' MAKE/MODEL 24H/2-24-Pb-	25.0000	EA	† <u>146.20</u>	3,655.00
242	DIST 8 7 GA HD ANCH 2-1/2" X 36" MAKE/MODEL #OH 200 - 36-6-	25.0000	EA	F 36.73	\$ <u>918.25</u>

Date	10/26/23		Page	25 of 27
Solicitatio	n Number	6817 OF		
Opening D	ate and Time	11/08/23	2:00	om
Buyer		SENSIBAU	GH, BREN	IDA

		INVITATION			
Line	Description	Quantity	Unit of Measure	Unit Price	Extended Price
243	DIST 8 7 GA HD WINGED ANCH 3" X 36" MAKE/MODEL Tいなっからした	25.0000	EA	73.76	\$ 1,844.00
244	DIST 8 7 GA HD PERM ANCH 3" X 36" MAKE/MODEL HD A 250-36-6	25.0000	EA	\$ 43.79	\$ 1,094.75
245	DIST 8 7 GA UNI-BASE ANCH 3" X 48" MAKE/MODEL ラロス・CTA リターレ	25.0000	EA	7 87.13	\$ 2,178.25
246	DIST 8 7 GA UNI-BASE WINGED ANCH 3"X48"	25.0000	EA	* 120.90	\$ 3,000.50
247	MAKE/MODEL SB8-CTUAY8-G DIST 8 TOP REDI-TORQUE RECEIVER	5.0000	EA	55.51	\$ 277,55
248	2-1/2" MAKE/MODEL 588C-256A - G DIST 8 REDI-TORQUE HARDWARE KIT MAKE/MODEL RTSB - MYHWW	5.0000	EA	\$ 20.18	\$ 100.90
249	DIST 8 ANCH FLANGE BOLT 3/8" X 3-1/2"	25.0000	EA	\$1.13	\$ 28.25
250	MAKE/MODEL 68F51378-35-2 DIST 8 SMALL CORNER BOLT W/NUT MAKE/MODEL C35(6-5-2	5.0000	вх	\$ 62,00	\$ 310.00
251	MAKE/MODEL COSTS 3 5 SMED CORNER BOLT W/NUT MAKE/MODEL C1356-M-2	15.0000	вх	\$ 59,60	\$885.00
252	DIST 8 SIGN BRACKET 12' ASBLOD PI-12-	25.0000	EA	\$ 56.60	1,460.00
253	DIST 8 2" POST HARDWARE	5.0000	вх	\$ 80.00	400,00 R43530 NE999003R43530JNE999003 20210114

Date	10/26/23		Page	26 of 27
Solicitation	n Number	6817 OF	•	
Opening D	ate and Time	11/08/23	2:00	pm
Buyer		SENSIBAU	GH, BREN	NDA

		INVITATION			
Line	Description (CLAMPS FOR BRACING) MAKE/MODEL SBRC5 2005&	Quantity	Unit of Measure	Unit Price	Extended Price
254	DIST 8 2-1/2" POST HARDWARE (CLAMPS FOR BRACING)	5.0000	вх	\$85.60	425,60
255	MAKE/MODEL STOPES 25056 DIST 8 2" POST HARDWARE (CLAMPS FOR EXTRUDED PANEL)	5.0000	вх	\$ <u>77.5°</u>	\$ 387.50
256	DIST 8 2-1/2" POST HARDWARE (CLAMPS FOR EXTRUDED PANEL)	5.0000	вх	\$ <u>79,00</u>	*395.60
257	MAKE/MODEL ETPCS 2505 Q DIST 8 3/8" DRIVE RIVET MAKE/MODEL DRAS3878-66-W	25.0000	вх	± 68.00	\$ 1,700.00
258	DIST 8 2" DRIVE CAP W/SHANK 1-1/8"X6" MAKE/MODEL DC200225C12	5.0000	ST	³ <u>263.87</u>	1,319,35
259	DIST 8 2-1/4" DRIVE CAP W/SHANK 1-1/8"x6" MAKE/MODEL DC225250LP	5.0000	ST	\$ 279.35	1,396.75
260	DIST 8 3" DRIVE CAP W/SHANK 1-1/8"X6" MAKE/MODEL DC25036612	5.0000	ST	\$ 282.14	\$1,410.70
261	DIST 8 BARRICADE SUPPORT W/DETACHABLE BRACKETS	5.0000	ST	\$ 51.82	259.10
262	MAKE/MODEL 130H 3 7 7 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	150.0000	EA	\$22.95	\$3,442.50
263	DIST 8	150.0000	EA	\$ 28.75 R	7 4,312,56 43530 NE999003R43530 NE999003 20210114

Date	10/26/23		Page	27 of 27
Solicitation	Number	6817 OF		
Opening D	ate and Time	11/08/23	2:00	pm
Buyer		SENSIBAU	GH, BREN	NDA

		INVITATION			
Line	Description	Quantity	Unit of Measure	Unit Price	Extended Price
	14 GA SQ POST 2" OD X 10' MAKE/MODEL ZSD (2 POPL			t	.
264	DIST 8 14 GA SQ POST 2" OD X 12' MAKE/MODEL 20D12 P12 P1	150.0000	EA	734.45	⁴ 5,167.50

VI. TECHNICAL SPECIFICATIONS

A. CONTRACTOR INSTRUCTIONS

Contractor must respond to each of the following statements. Specifications listed are minimum conditions that must be met in order for a Contractor to qualify for the award.

"YES" response means the Contractor guarantees they can meet this condition.

"NO" response means the Contractor cannot meet this condition and will not be considered.

"NO & PROVIDE ALTERNATIVE" responses should be used only with a narrative response in the NOTES/COMMENTS section explaining in detail any deviation from the Contractor's ability to meet the condition, and an explanation of how this would be determined to be an acceptable alternative to meeting the condition. Alternatives must be detailed in such a way that allows such deviations to be fully evaluated. The State shall determine at its sole discretion whether or not the Contractor's alternative is an acceptable alternative.

B. NON-COMPLIANCE STATEMENT

	NO	NO & PROVIDE ALTERNATIVE		
V			1.	Read these specifications carefully. Any and all exceptions to these specifications must be written on or attached to solicitation response. Any noncompliance may void your bid. Non-compliance to any single specification can void your bid.
✓			2.	It is the responsibility of Contractors to obtain information and clarifications as provided below. The State is not responsible for any erroneous or incomplete understandings or wrongful interpretations of this solicitation by any Contractor.
V			3.	No interpretation related to the meaning of solicitation specifications or other pre-bid documents will be made orally to any Contractor by the State. Any solicitation interpretation must be put in writing by the Contractor to the State Purchasing Bureau, Questions should be uploaded using the ShareFile link provided in the ITB Schedule of Events, Section I.C. by the last day to submit written questions per the Schedule of Events. (Inquiries received after the last day to submit written questions may not be addressed).

C. TECHNICAL SPECIFICATIONS: Perforated Square Steel Tube

YES	NO	NO & PROVIDE ALTERNATIVE	
J			Square post will be hot-rolled carbon sheet steel structural quality, ASTM designation A1011. Grade 50. Average minimum yield strength after cold forming is 60,000 PSI.
J			2. System will consist of a sign post, anchor and sleeve.
√			3. The cross section of the post shall be square tube formed of 12 gauge (.105 U.S.S. gauge) and 10 gauge (135 U.S.S. gauge steel and shall be carefully rolled to size and be welded directly in the corner with high frequency resistance welding and eternally scarfed to agree with corner radii.
V			4. The posts will be punched with 7/16" +/-1/64 inches in diameter holes on 1" centers on all four sides down the entire length of the post. Square tubing holes shall be center line on each side in true alignment and opposite each other directly and diagonally.
V			5. Posts shall be manufactured from hot-dipped galvanized steel conforming to ASTM A653, G90, Structural Steel (SS) grade 50, class 1. The corner weld shall be zinc coated after scarifying operation. The steel

	coated with chromate conversion coating and clear organic polymer
✓	topcoat. Both interior and exterior of the posts shall be galvanized.
V	6. The length of the posts shall have a permissible tolerance for straightness will be within 1/16" in 3ft. Standard corner radius shall be 5/32 of an inch +/- 1/64 inch.
1	7. Permissible variation wall thickness tolerance is +.010" Convexity & Concavity measured in the center of the flat sides. Tolerance +/010" determined the comer.
V	8. The finished posts shall be straight and have smooth uniform finish. It shall be possible to telescope all consecutive sizes of square tubes freely and for not less than ten feet of their length without necessity of matching any particular face to any other face. All holes and ends shall be free of burrs and ends shall be cut square.
V	9. Buy America Certification: The bidder must furnish certification, from the signpost manufacturer, stating that the square post system when submitting their bid or upon notification from State Purchasing will have five (5) calendar days to provide certification the square post system bid meets the Buy America Requirements. Square post systems that do not meet requirements may be grounds to reject the bid.
~	a. Identifying information such as contract ID, control number, project number and/or project name
V	b. Identifying information is not required for materials submitted for pre-approval (products noted on the NDOT approved products list, lots, batches, bundles, etc.) c. Clear and unique product identification (name of product with lot number, heat number, reel number, etc.)
>	d. Clear and unique product identification (name of product with lot number, heat number, reel number, etc.)
	10. The statement
V	a. Products or materials specified in this certification are permanently consumed in, incorporated into, or affixed to the project and meet the applicable Build America, Buy America requirements detailed in the Infrastructure Investment and Jobs Act as well as the 23 CFR-635.410 Buy America requirements for steel and iron products
~	b. A signature by the manufacturers authorized representative and representative's title.
~	11. Bidder must specify the name of post manufacturer being bid.
NOTES/COMME	NTS:

D. ANNUAL USAGE, ESTIMATED

v	1.	Annual usage figures provided are estimates and are not to be
		construed as either a minimum or maximum purchase quantity. The orders shall be for the actual quantities of each item ordered by or for any agency during the life of the contract. Contractor shall not impose minimum order requirements.
V	2.	See 6817 OF For Estimated Annual Usage

E. USAGE REPORT

YES	NO	NO & PROVIDE ALTERNATIVE		
٧			1.	The contractor shall, upon request, provide a usage report of this contract by state agencies and political subdivisions. Information will include agency name, item(s), and dollar amount and shall include the information of the time period requested. Information may be requested at any time by the SPB.
NOTES/C	OMMENT	S:		

F. DELIVERY ARO

YES	NO	NO & PROVIDE ALTERNATIVE	
✓			Deliveries of Perforated Square Steel Tube shall be FOB destination to all NDOT locations specified on the purchase order or as directed by NDOT at the time of purchase in accordance with this Invitation To Bid. A NDOT District contact person and phone number will be given to the Contractor when an order is placed. Contractor must notify the NDOT District contact a minimum of 24 hours prior to the anticipated delivery. Contractor shall maintain sufficient inventory to process and deliver within 60 calendar days after receipt of order(s). There will be no minimum order requirements. Deliveries of Perforated Square Steel Tube may be combined whenever possible. NDOT reserves the right to order quantities to satisfy needs
<			Deliveries shall be made during normal business hours between 7:00 A.M. and 3:30 P.M., Monday through Friday (excluding State Holidays and/or as otherwise directed). If an emergency arises, delivery may be made through prior arrangements with receiving personnel.
J			3. If the Contractor is unable to meet delivery schedules, the ordering District Superintendent must be notified within three (3) days from the date the order was placed. If it is nearing the delivery date and for some unforeseen reason the Contractor is unable to meet expected delivery, the ordering District shall be notified at least 48 hours in advance. The order may be cancelled if the delivery date is unsatisfactory, and the State may procure item(s) from other sources. The contractor may be held responsible for an/all excess cost. Failure to meet delivery requirements of the contract may constitute a breach of the contract.

1	4.	All orders must reference a purchase order number and the purchase order number must be referenced on the invoice and packing slip/delivery ticket. Invoices are to be sent to the "Invoice to" address on the purchase order.
√	5.	At the time of delivery, a designated State employee will sign the "invoice/packing slip." This signature will only indicate that the order has been received and that the items actually delivered agree with the delivery invoice. This signature does not indicate all items were received in good condition and/or that there is not possible hidden damage.
NOTES/COMMENT	'S:	

G. DELIVERY LOCATIONS / INSTRUCTIONS (BIDDER AGREES THAT THEY CAN MEET THE DELIVERY LOCATIONS/INSTRUCTIONS)

YES	NO	NO & PROVIDE ALTERNATIVE		
V			1.	District 1 Lincoln- 302 Superior St. Lincoln NE 68521
V			2.	District 2 – 2829 N 204th St. 68022 Elkhorn NE 68022
V			3.	District 3 –1001 Alaska Ave. Norfolk NE 68701
√			4.	District 4- 3305 W. Potash Rd. Grand Island NE 68802
~			5.	District 5 - 140375 Rundell Rd. Gering NE 69341
√			6.	District 6 – 500 W. South River Rd. North Platte NE 69103
✓			7.	District 7 – 38764 US Highway 6, McCook NE 69001
1			8.	District 8 – 7306 E. 4th St. Ainsworth NE 69210

H. PACKAGING

YES	NO	NO & PROVIDE ALTERNATIVE		
√			1.	Supporting Hardware cartons are to be clearly marked with Description and Quantity. Cartons must be of suitable size and of sufficient strength to protect the contents during shipping, handling and storage.
V			2.	All posts. regardless of length, shall be packages in bundles of 25 posts per bundle, securely banded on both ends with steel banding.
√			3.	Posts that are 10', 12' and 24' lengths shall be delivered on flatbed only.

NOTES/COMMENTS:	

I. QUALITY

YES	NO	NO & PROVIDE ALTERNATIVE		
~			1.	Product quality must meet specifications and be consistent for the term of the contract. A guarantee of satisfactory performance by the supplier and meeting delivery dates are considered to be an integral part of the purchase contract resulting from this bid invitation. All materials must be of first quality, under standard production by the manufacturer and be of standard design, complete as regularly advertised and marketed and be of proven performance. Products are to be fully guaranteed and may be returned for full credit or replacement (at the State's option) for any reason during the initial warranty period with no additional charges for shipping or restocking.

YES	NO	정본하다 하다는 물로 있었다면 하다 하는 사람들이 회사를 보지 않는 것이 하는 것 같아. 이 나는 것이 없는 것이 없다는 것이 없다는 것이다.
✓		1. Prices quoted for each Nebraska Department of Transportation location as specified in Section VI G Delivery Locations shall be unit price and shall be firm for one (1) year from date of an award and are to be net; including transportation and delivery charges fully prepaid by the Bidder F.O.B. Destination as specified No additional charges will be allowed for packing, handling, fuel surcharge, or partial delivery costs. Any request for an increase must be submitted in writing to the SPB a minimum of thirty (30) days prior to proposed effective date of increase and must show cause and be accompanied by supporting documentation (such as notification letter from manufacturer). Further documentation may be required by the State, to authenticate the increase (such as manufacturer invoices). Failure to supply any requested supporting documentation may be grounds to cancel the contract. In no instance may a price increases be billed to the State until the contract is amended. The State further reserves the right to reject any proposed price increase(s), cancel the contract and re-bid if determined to be in the best interest of the State. The State will be given full proportionate benefit of any decrease for the term of the contract. Contract supplie or suppliers may honor pricing and extend the contract to political sub-divisions, cities, and counties. Terms and conditions of the contract must be met by political sub-divisions, cities, and counties. Vendor also represents and warrants that all prices set forth in the contract and all prices in addition, which the Vendor may charge unde the terms of the contract, do not and will not violate any existing federal, state, or municipal law or regulations concerning price discrimination and/or price fixing. Vendor agrees to hold the State harmless from any such violation.

K. **AUTHORIZED DEALER & WARRANTY**

YES	NO	NO & PROVIDE ALTERNATIVE		[편집 통화 통화] 시 시 시 시 시 시 시 시 시 시 시 시 시 시 시 시 시 시 시
✓			1.	To the extent required by the manufacturer, the Contractor shall be an authorized dealer. Contractor may be required to substantiate that he/she is an authorized dealer. Proof, if required, must be submitted to SPB within three (3) business days of the request and prior to the award of any contract.
NOTES/C	OMMENT	rs:		

YES	NO	NO & PROVIDE ALTERNATIVE		
√			1.	Contractor must warrant the average life expectancy supplies hereunder to be not less than that stated in the manufacturer's price list and agree to replace, without cost, all supplies failing to meet this requirement, except where the reduced life is due to conditions beyond the control of the Contractor. Defective parts or those damaged in shipment must be replaced by the Contractor at no charge to the State. The manufacturer's standard warranty shall apply and be in effect for at least one (1) year from the date the equipment was placed in service
NOTES/C	OMMENT	'S:		

M. CERTIFICATION AND PERFORMANCE TESTING

YES	NO	NO & PROVIDE ALTERNATIVE		다른 사람이 있는 그림부터 되어 있다. 하는 종류를 받는 것도 말을 통합하는 것이 되었다. 생물을 보는 것은 사람들이 있다는 것이 사용하는 것이다. 그런 기를 받는 것은 사람들이 되었다.
√			1.	With the shipment of each order, the contractor shall furnish to the Nebraska Department of Transportation a certified mill test report, from the manufacturer, that certifies the posts supplied comply with the requirements of ASTM A 702, Steel B. This certificate shall show the physical test results, including hardness.
			2.	With the shipment of each order, the contractor shall furnish to the Nebraska Department of Transportation a certified mill test report, from the manufacturer, that certifies the posts supplied comply with the requirements of ASTM A 702, Steel B. This certificate shall show the physical test results, including hardness.
•				Random samples of the Perforated Square Steel Tube ordered and delivered may be tested by the Nebraska Department of Transportation, Materials and Research Division, at any time during the duration of the contract, to determine if the systems/products being provided meet or exceed compliance with the required design and quality specifications. Any Perforated Square Steel Tube and/or signposts provided that do not meet specifications may constitute a breach of the contract. Any deliveries over the duration of the contract may be rejected if the signposts fail to meet the design specifications and quality in accordance with the specifications. The contractor shall be responsible for replacement of all defective signposts delivered to the State. At the State's discretion, reimbursement will be in dollars and/or materials equal to the assessed damage. The contractor will not be compensated for rejected signposts nor will it count toward the required quantity. Rejected signposts shall be replaced with acceptable signposts by the contractor within fifteen (15) calendar days after notification of the rejection at the contractor's expense, including transportation and delivery charges.

26

ADDENDUM ONE REVISED SCHEDULE OF EVENTS

Date:

October 13, 2023

To:

All Bidders

From:

Brenda Sensibaugh, Procurement Contracts Officer (PCO)

State Purchasing Bureau (SPB)

RE:

Addendum for Invitation to Bid (ITB) 6817 OF to be opened November 8, 2023, at 2:00 p.m.

Central Time

REVISED SCHEDULE OF EVENTS

The State expects to adhere to the tentative procurement schedule shown below. It should be noted, however, that some dates are subject to change.

ACTIVITY	DATE/TIME
Release solicitation	September 27, 2023
Last day to submit written questions	
Upload electronic Questions for 6817 OF via ShareFile to:	October 10, 2023
https://nebraska.sharefile.com/r-r05c3920f0fe4451488e34ae3cf29130b	
State responds to written questions through a solicitation "Addendum" and/or "Amendment" to be posted to the Internet at: https://das.nebraska.gov/materiel/bidopps.html	October 18-2023 October 13, 2023
Electronic Bid Opening via Zoom Meeting Upload electronic Bid submissions for 6817 OF via ShareFile to: https://nebraska.sharefile.com/r-r0fe4fe79caf545bdade680f6b5fb0c3b	November 8, 2023
Zoom Meeting https://us02web.zoom.us/j/2629176739?pwd=NkhobXNpOU94UmFmTG1wYmJqTXhpUT09	October 24, 2023 2:00 PM Central Time
Meeting ID: 262 917 6739	
Passcode: 5VwBuR	
Post "Notification of Intent to Award" to Internet at: http://das.nebraska.gov/materiel/purchasing.html	TBD
Contract award	TBD

ADDENDUM TWO REVISED SCHEDULE OF EVENTS

Date: October 23, 2023

To: All Bidders

From: Brenda Sensibaugh, Procurement Contracts Officer (PCO)

State Purchasing Bureau (SPB)

RE: Addendum for Invitation to Bid (ITB) 6817 OF to be opened November 8, 2023, at 2:00 p.m.

Central Time

REVISED SCHEDULE OF EVENTS

The State expects to adhere to the tentative procurement schedule shown below. It should be noted, however, that some dates are subject to change.

ACTIVITY	DATE/TIME
State responds to written questions through a solicitation "Addendum" and/or "Amendment" to be posted to the Internet at:	October 27, 2023 October 18-2023
https://das.nebraska.gov/materiel/bidopps.html	October 13, 2023
Electronic Bid Opening via Zoom Meeting	
Upload electronic Bid submissions for 6817 OF via ShareFile to: https://nebraska.sharefile.com/r-r0fe4fe79caf545bdade680f6b5fb0c3b	November 8, 2023
Zoom Meeting	October 24, 2023
https://us02web.zoom.us/j/2629176739?pwd=NkhobXNpOU94UmFmTG1w	2:00 PM Central Time
YmJqTXhpUT09	
Meeting ID: 262 917 6739	
Passcode: 5VwBuR	
Post "Notification of Intent to Award" to Internet at: http://das.nebraska.gov/materiel/purchasing.html	TBD
Contract award	TBD

This Addendum will become part of the bid and should be acknowledged with the ITB.

ADDENDUM THREE QUESTIONS AND ANSWERS 6817 OF

Date: 10-27-23

To: All Bidders

From: Brenda Sensibaugh, Procurement Contracts Officer

AS Materiel State Purchasing Bureau (SPB)

RE: Addendum for Invitation to Bid (ITB) Number 6804 OF for Perforated Square Steel Tube to be

opened on November 8, 2023, at 2:00 p.m. Central Time

Following are the questions submitted and answers provided for the above-mentioned ITB. The questions and answers are to be considered as part of the ITB.

It is the Bidder's responsibility to check the SPB website for all Addenda or Amendments.

The following lines 1 through 240 are hereby removed and replaced with lines 1-264.

Question	ITB	<u>ITB</u>	Question	State Response
<u>Number</u>	Section Reference	<u>Page</u> <u>Number</u>		
1	VI, subsection C	20	When I go to to the Technical Specifications Section VI c. Technical Specifications: Perforated Square Steel Tube	Section VI Technical Specifications C,
			Shall be a manual for Assessing Safety Hardware 2016 (MASH 16) approved. Bidder must provide with bid a letter from FHWA documenting MASH 16 approval of posts	Shall be a manual for Assessing Safety Hardware 2016 (MASH 16) approved. Bidder must provide with bid a letter from FHWA documenting MASH 16 approval of posts
			Problem - There has been been no testing on the PSST posts to meet this requirement	This language shall be removed from 6817 OF Section VI C 1.
2	ITB	1-23	Some of the posts are in inches and some are in feet. Can you verify on each line if it is feet or inches?	See Revised Invitation to Bid date 10-27-2. The following lines 1 through 240 are here by removed and replaced with lines 1 through 264.

This Addendum will become part of the ITB and should be acknowledged with the ITB.